
Models K AICc ∆ AICc wi 

Initial height + Elev + Water + (1|Plot) 5 88.5 0.00 0.32 

Initial height + Origin + Elev + Water + Elev*Origin + (1|Plot) 7 89.3 0.88 0.21 

Initial height + Origin + Elev + Water + Elev*Origin + Water*Origin + (1|Plot) 8 89.7 1.22 0.17 

Initial height + Origin + Elev + Water + (1|Plot) 6 90.7 2.20 0.11 

Initial height + Elev + (1|Plot) 4 91.1 2.67 0.08 

Initial height + Elev + Temp + Water + Origin + Elev*Origin + Water*Origin + (1|Plot) 9 92.0 3.56 0.05 

a Initial height + Origin + Elev + Temp + Water + Elev*Origin + Temp*Origin +  Water*Origin + (1|Plot) 10 93.2 4.72 0.03 

(1|Plot) 2 93.7 5.27 0.02 

 


